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26. The doctor says that the patient has turned the corner.
Select the correct meaning of the underlined part.
(1) completely recovered (2) become worse
(3) passed the crisis (4) died out
27. She expects me to rush 6ver and help her at the drop of a hat.
Choose the best meaning of the underlined part.
(1) rightfully (2) suddenly
(3) emotionally _ (4) Noﬁe of the above
28,  Match the pairs :
I ) I
a, Stoic L Incapable of errors
b. IDliterate II. A person indifferent to pleasure and pain
e Nlegible III. Incapable of being read |
d. Infallible IV. A person who doesn’t know how to read and write
a | b c d | " |
(1) II III I IV
2 Iv I 1 IT
(3 III I H v
@ I v I I
29. @ Lifeis what we make of it.

b.  As you sow so shall youreap.
¢. The time which is lost is lost forever.
d. We hope he will be saved.

Identify the sentences with noun clause from the following :

(1) Onlyaande

(2) Onlybandd

(3) Onlybande
(4) Onlyaandd

TOTT BTHIS! ST / SPACE FOR ROUGH WORK ‘ : . PTFO.
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Choose thé underlined part of the sentence which has an error.

'The competition organized by the villagers  will be over at 6 pm. .

a b . £
M a @ b
@ ¢ (4) None

31.

Which of the following greetings is/are mof correat ?

a.  Good morning ! I_anll glad you have come.

b. Good evening ! I am glad you have finished your meal.

¢.  Good night!Iam glad you have finished your meal.

(1) Onlya (2) Onlybande
(3 Onlyaandec - : (4) Onlyc |

320 ’

Ashoka was one of the greatest Indian rulers.

Select the correct comparative degree of the ébove sentence.

a. Ashoka waé greater than most other Indian rulers.

b. Ashoka was greater than many of.her Indian rulers.

¢. Ashoka was greater than any other Indian rulers.

(1) Onlya ' (2) Onlyb

(3) Onlye (4 Alloftheabove

a. Ifshe worké ijeg'u.larly, she may achieve her goal.

b.  If you studied hard, you will get good marks.

¢. If you had tried, you could have driven a car.

- Identify the correct sentence/s.

(1) Onlya
(2) Onlyb
(3) Onlyaandc
(4) Onlybandc

| qreeq] WTATS! AT / SPACE FOR ROUGH WORK
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Change the following sentence into indirect speech
She said, “Would that I could relive my past !”

(1) She said that she would relive her pést.

(2) B8he said that the she could relive her past.

(3) She wished that I could relive her past.

(4) She wished that she could relive her past.

85. Match the followng : -
a.  Achilles’ heel L Lack of choice

b. Hobson's choice : II. . Important weakness
c.  Full of beans | - III.  To tell a secret too soon
d. Spillthebeans IV. Fuloflift
a b c d
1 v 11} II I
@ I B I v
3 I I I v

(4 1II I v III

86.  Choose the option having the closest opposite meaning of the word in capitals.
He accused the government of ABDICATING its responsibility for the economy.

a. Renounce

b. Exonerate

¢. ~Assume
(1) Onlya (2) Onlyaandb

@) Onlyc . (4) a,b andc

87. a. Thisis a unique phenomenon in nature.
b. Her uncle was an MP once.

¢.  'The rich are getting richer and poor poorer.

Idéntify the correct sentence/s.
_ (1) Onlye (2) Onlyb
(3) Onlyc ‘(4) Onlybandc

ToeT FETATS! SR / SPACE FOR ROUGH WORK ' P.T.O.
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88. Match the following :
'~ a. Aficionado I.  Tobe rude to or hurt feelings of
b.  Afortiori II.  Someone keenly inferested in-a partlcular activity
c. Aftermath III.. For astill stfonger reason
d. Affront IV. The result followmg a bad evenﬁ '
a b c d |
1) 11 III v 1.
@2 m I v 1
(3 Il 11 I IV
@ o m S\
89. a. He has been working for two months.
b. He went to Mumbai yesterday.
c. We have gone there last week.
* Select the correct séntencé/s. |
. (1) Onlya (2) Onlyb
3) Onlyc (4) Onlyaandb
40. She camed the joke too far.
Choose the best meaning of the u.nderlmed expression.
(1) To do something to too great a degree
(2) Ta dosomething repeatedly
@3) To do.something knowingly
(4) To do something unknowingly
‘Choose the correct option to fill in the blank.

41.

is still uncertain.
(1) Where waé he in the spring of 1970
(2) In the spring of 1970 where was he
(3) In the spring of 1970 where he was
(4) Where he was ln the spring of 1970

FPOEAT HITATS! ST / SPACE FOR ROUGH WORK'
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Read the following passage and answer the quéstions that follow (42 to 46) :
You Haire The Power To Choose To Be Happy

While giving a lecture in Pune, I was asked, “You've been practising Kriya Yoga for
40 yehrs and if it is as helpful as you say, you must have gained something ... please show
me your powérs.” I paused for a moment and said, “I'm sorry, I don’t have any powers,” then:

added, “except that I have the power to be happy wheﬁevef I choose.”

o Isn't _happiness what wé all rea]]j want, undernégth the pursuit of pleasures,
wealth, or “powers” ? Why then don’t we simply choose to be happy whenever we wish
rather than wqiting for happiness to come to us as something béyond ybiﬁ_‘ control '? Why
not be happy all the time ? The answer is we don’t sée happiness as a chmce, few possess

the powér to choose it.

Worldly happiness is fleeting, like a desert mirage receding into the distance as we
: dfaw near. Lifetimes of poor,l semi-aware choices eventuallj reveal that lasting happiness
can‘nof be found outside of our own self and manymore- lifetimes are needed to d_tlavelop‘
‘power enoﬁgh to seriously seek it within. Blessed is he who recognizes where true joy lies

and has strength enough t6 choose it. .

‘When asked, “Why should one meditate 77 I sometimes say, “So you caﬁ learn to
chdose, consciously and wisely.” A common reply is, “But, I'm free to méke my own choices
already and do as I please.” But is this really true ? Few are even remofélir conscious of
what drives ti:eir decisions; simply reacting to circu-mstaﬁces is not making a conscious

choice. The average man lives as a puppet, under an illusion that he is the one pulling the

TroeT TTAIS) 9T / SPACE FOR ROUGH WORK S | - PTO.
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strings of his life, when in fact; he is propelled by desires, habita and: kumi&cbmpdmm’!ﬁf
which he is only dimly aware.

~ See how easily people become angry over trifles or are driven by impulses. Did they
choose . to act that way ? How “free” can their chome be 1f they cannot first control
themselves ? Only those who have mastered theu' httle ego-self’ can claim to be acting
freely. | |

ik

“Circumstanoes are always naturel,. Yogananda said. It is how you react to them that
make them. Reacting emotionally demands awérenees, control of our life force and an
' abi_lity to choose. Theee are the fruits of ye_ga. If youtrmnyourse]ftoactm,]oy rather than
reacting in anger or sorrow, you will alweys ‘be well guided;, Make this your netufal
i-eepoe'se and see how your life chenges for the better.

My teacher Swami Knyananda a dlrect dlaaple of Yogana.nda, emphasmed “On a
‘fundamental level we have only two chowes in- hfe. to move tawards the light.or to move
away from it.” This is the cholce before us in every. moment ui ¥ty act. If we wmh to be
" successful as human bemgs we must develop our latent. power of w111 and d1sgnmmatmn to
wisely choose the light. Otherwise, we are tossed on the tldes of karmic circumstances,

lifetime after ]ertlme Why wait until tomorrow to be h&pﬁy_? Choose it right now !

Each morning, before starting your day, repeat this affirmation with eonvictioﬁ, “1

vow from today- onwards to be happy under all circumstances. I ¢camb from God: I am joy I”

] T ST / SPACE FOR ROUGH WORK: R
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b.
c.
d.
(1

-3

15 - E69

- 42, What do we seek in life ?
Worldly happiness

Joy

.‘ Wealth, pleasures, powef
Self - '

Onlyaandd | : (2) Onlyb
Onlya,bandc - | @) Allof the above

48.  How can we achieve rea] happiness in our life ?

¢y
- {(2)

@

&)

- By following worldly happiness -

By showing anger over trifles
With medltatlon choosing consclously and wmely

By amassing wealth

Ee)
2
(3)

(4)

" 44. What does the wnter mean by circumstances are natural ?
~Circumstances do not have any power to affect us.

Circumstances carry poemve and negatwe changes which make them natural,
Clrcumstances are relative.

Cucumstances are frmts of medltataon

45, What is the meamng ofdesert mlrage ?

ey
(2)
(3

(4)

A thmg wh;wh We come across in deserts

Tt is a cactus like plant found in deserts .

Mustration \ .
A thmg which appears to be true hut on approachmg near dmappea.rs ,

46.  What was the author practising ?

(D).

(2)
3)
@)

KriyaYoga |
Conscious pursuit of wealth
Meditation

God

@O PTATETS! IR / SPACE FORROUGHWORK -~ ... - -~ . - - = PTO.
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47.  Pair the antonyms : | o
L1 List 1T
a. _ Intricate . L ‘Decline
b. Prosper I Rude -
c. Lament II. Simple
d. Gentle o ‘ .~ IV. Rejoice
 a b ¢ d | |
(1 Im I - v n
@ I I v T
8 IV Im I o B
(4) I v

48.  Pick out the most correct order in the followmg sentence _ .
L theu.ncheckedpopulahmgmwth that we have madasmnemdepmdence |

a - - R
nayexplodin; numhers :t.xs theproblemofm mmym
c d o e AN f
1) fadeceb o ‘('2)‘ e,,d,c,h,a,f o
@ f,.-e',c,-d,.a.b o | (4). None of the above

49. - They did not give any reason for the of the meetmg (postpone)
Select the correct noun form of the word in the brackets to oomplete the sentence
(1) postpone . T ® postponement '
26) postponmg | o @ postponamon

b

50. Which of the follewmgsentenoes eontam(s}eorreet punctuatlon marks ?
| ‘a.  Well watch yourselfand dont get into trodhilé he said
b Well, watch _yourae].f and dt_m’t-get into trouble he said. _
c.” “Well, watch yourself and don’t get into tréuble;” he'said, - -
() Onlyb - () Onlya
@ Ouye @ Only a and b

mmmm:spmsmnnououwonﬂf " *Jt* SRR J‘"Z'.F
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51. it 6 AT 210 . SiaT 9, W I I 10w i iR e ?
") 3875k, : (2) 35f&f.
(3) 350 f&.H. (4) 300 5.

A train covers 210 km in 6 hours. How ﬁmy km will the train cover in 10 hours
with the same speed ? o

1) 375km | (2) 35km
_ (3) 350km - (4) 300 km |
§ 52.  wrefre famie s v freed Frae

e '

¥ w4 I A A

9.  gd g duel AR,

%, B e B TR,

§ Rews s - . = ‘
- I w0 g arht e, ‘ - L
I Fdt Tl o1 2. - |
. ik 6 ome.

IvV. @ 2nfd an 3. |

(1) wRIV (2) e I foha 111 9t uaher
(3) = II ' ' (4) w34 Ianfr 111

Identify the correct conclusions from the following statements.
Statements : o
a.  All mangoes are brinjals.
5‘ b.  All brinjals are tomatoes.

¢.  Some tomatoes are oranges.

Conclusions :

I.  Some oranges are brinjals.

II. Some brinjals are mangoes.

III. Some mangoes are oranges.

IV. All tomatoes are mangoes. S :
(1 Onlylv . (2) EitherTorIllonly -
3 OulyIl (4) OnlyIand III
‘ EYT BHMTATS! ST | SPACE FOR ROUGH WORK . - PID.
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14, 28, 32, 41,50,59 o o . \
QM 28 (2) 41 3 59 (4) YR e T
Find out the odd niumber. : o o -
14, 23, 32, 41,50,59 . |
1 23 @ 41 (3) 59 @ None‘ofthese

gg

54, ‘r@%mﬁwwmmw mt@waﬁ%aﬂmm'
'aaﬁmf;aﬂ:ﬁ‘emsrra uga%ma%au13aﬁam u@wmﬁaﬁmuﬁ%aﬂ |

a7
(1) 2294 (2) 23 ¢
(3) 20%d (4) 2199

‘Rahul’s present age is %of hig father’s age. Rahul's mother’s age is 5. years less than

his father’s age. If Rahul’s present age is 13, years then what will be. Rahul’ _
mother’sagewhenRahulwasborn" T ‘ |
(1) 22years ~ : @ 23 years

(8) 20years - " (4) 2lyears

55. Wﬁmm@ﬁmma@ao

CEIE i

w 14 @ 10
3 16 | - 4 12
How ma.ny total tnangles are there in the given dm.gram ‘?

@ 14 @ 1w
® 16 . @ 12

. TesHT TRTATS TP J SPACE FORROUGHWORK -+~ - <77 " e BT
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56. TA=E,B=F 3 C=G,T GO AHEAD 3 Wit ¥v gt + % 7

(1) KSFLIFH - (2) KSELIEH
(3) KSELIGH (40 KSELIEG
IfA=E, B =F and C = G, then how. will you code ‘GO AHEAL ?
(1) KSFLIFH ) KSELIEH

(3 KSELIGH (4) KSELIEG

57. wmwm@awmmw@@mmﬁwm 1 WA
' agﬁmazqai@mmm ﬁlamqﬁaaﬂ?ﬂamamm% mqﬁfﬁeﬁag@m

FqA ?

(1) TFR TEE.

2) T S FAd Nw FOR T JFIFS T E ST,

(8) vy S Wea U gRawn f FET Yt a9 R,

(4) TR =1 ST YaaT WY GHESE ST e ST,

You got a governinent job, but you always stayed in the city. You are worried about

~ the facilities available in the village. This job is very much required. What will you
do in such type of situation ? -

(1) Deny to serve.
(2} Unwillingly carry on the job and try to get another job. _
(3) Getthe help of locals and honestly try to achieve the facilities.

(4) Console your mind and accept the situation and try to manage the situation.

58. UH W@ 15 fE.dt. fioe et onfr Am o 9@dl. Am 7 Rt SeeEw @
_ erfihe Tt anfor 1 f6. . =, mmmm?ﬁaﬁvﬂﬁﬁwaﬁ?

1) d9fFm (2) el
(3) = (4) TR

A man walks 15 km towards south and then turns to the right. After walking 7 km
he turns to the left and walks 1 km. In which direction is he from the starting

place now ?
(1) West . (2) South
(3) North-East : 7 (4) South-West

TTEYT ST ST /| SPACE FOR ROUGH WORK o - PTO.
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89. T 3 ARpHREE Horar vt e R 2

o, e, T
e, e, et
T, &, W
(1) wFa A

a. oy o8 g

(2) wad« i+
(3) Wﬁ,gmﬁna{

(4) PHE

Wl_n'ch option is correct for this Venn diagram ?

a. Sc_hbol, Laboratoi'y, Libraljy
"~ b. Day, Month, Year

c. India; Ma.ha.rashtra, Mumbai
d.  Notebook, Book, Pen
() Onlya.
N (2) Onlybande
(3) Onlyc,danda
(4) Onlyd

mma AT / SPACE FOR ROUGH WORIE - -




60. Eﬁﬁuﬁﬁmnﬂﬁmm: _ -
7. Torn el Qe Gt Feita Wi 10 A s e s o,
% RIMAR B 10 awwen) w ok,

% @ B C ¥ 20 TR T Ik,
T. RV DR E Y& 50 ¥Ewed o AR,
a mE%F&mioamwﬁmaa@,
%. WA F ¥ B Y@ 30 aRe wit .
C ¥ E v Tt St 2 e T ?
(1) BamfrA
(2 BafF
(3) BamfID
(4) DarA

Answer the question with the help of the following information :

; a. Each radio station transmits a frequency Whlch is at least 10 cycles more or
; : ‘ less than that of another station.

‘ b.  Station A is 10 cycles lower than B.

il

c¢.  Station B is 20 cycles lower than C.

L
,

d. Station D is 50 cycles Higher than E.
e.  Btation E is 10 cycles higher than F.
f.  Station F is 30 cycles lower than B.

Which stations are operating between C and E ?
(1) BandA

(2 BandF
(3) BandD

(4 DandA .
 ZPoeaT BEAIE} T / SPACE FOR ROUGH WORK o P.T..
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6l. ‘w8 TawWw 2017 FeAAEEd Wrehe faue e =

. TR wesate Tl 10 TR v Faw S,

a. B 434 TR ST A WA TR g T S,
% mmwmwmu‘rﬁammﬁ

T, TR e T a1 ST R N A aNRY I,
-aﬂaﬂiﬁlmﬁmﬁiﬂmm?

)

(2) a9 ¥ N H

(3) wEF A3

(4) qﬁ%raw,aaaﬁa; ,

Consider the following statements regarding ‘Swachch Sa.rvekshan 2017 report
released recently :

a.

b.

The report declared top 10 cities ranked on cleanliness.

The survey was carried out by the Qutﬂitféouncil of India in 434 cities and
towns. . ‘ .

Indore was declared as India’s cleanest city.

Pune is the only city in Maharashtra ranked among the top ten.

Which of the ahove statements are correct ?

Q)
@)
3)
4)

Onlyaandb
Only band c
Onlycandd

Onlya,band ¢

JoEgT BTG SIRTT / SPACE FOR-ROUGH WORK
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(1) gy v
2) maﬁaww |
(3) mmamw
(4) o WA

Which of the following ministries has introduced the ‘J anam Sewa’ 'schéine ?
(1) The Ministry of AYUSH

(2) The Ministry of Health and Family Welfare

S b Pies

(3) The Ministry of Social Justice and Empowerment
(4) The Ministry of Railways

_mmu@ﬁ?hmuﬂ?ﬁwawﬂaﬁmwﬁﬁamm

., <t em. mwﬁmﬂnﬁmmmm

Rt :ﬂmd’tm %a‘ttﬁ:ﬁm wéﬁt—ﬁ:rm%

F. qa:m T

3‘. .40, s it iR T HEE R

et e fsrad cher af S 2

(1) e N, a:mﬁrs‘ ‘ (2) SFH AT E
(3) W H ‘ (4) masﬁﬁrs’_ o

Consider the following recq:pinendaﬁons of Justice Lodha Committee :

a. No BCCI official can be a Minister or a government servant

b. © TPL should be merged in BCCI

c.  One State — One Vote
d. . Legalise betting for players too

BCCI to come under the RTI Act
Wlnch of the above is/are not the recommendation/s of the Lodha:Committee’ 7
(1) Onlya,bande ' (2) Onlycandd
(3) Onlya (4) Onlybandd

Foeq] IS IR / SPACE FORROUGHWORK ~~ ~ + = "o - % ' " pTQ,
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6. ' rwawit 2 o, 2017 oht SEUEA e SRR — ARG S efie R e

. ‘ammmwﬂam:ﬂﬁ . .
q. _m&mmmmmmammmm
® ﬂmﬁﬁaﬂammmwﬁamwﬁwwmmmﬁm

Fhwlh! B faum st amia 7

(1) W3, A
@) S q, & AT
(3) wFa A, HAMME
(4) BFAA, TAHMNE

~ Consider the following statements regarding Chenani — Nashri tunnel, inaugurated
by the Prime Minister on 20d April, 2017 : '

a. ItisIndia’s longest road tunnel

b. It is India’s first and the World’s second tu.n.nel to have transverse ventllatlon
system.

c. It has electrical ﬁre sxgna]lmg system with actlve ﬁx;e-rﬁghter system and also
video survelllance system.

d. It will reduce driving time between Jammiu and Srmagar by about two hours.
Which of the statements given above are correct ?

(1) Onlya,bande

(2) Onlyb,candd
(3) Onlya,candd

(4) Onlya,bandd

o] PTG / SPACE FOR ROUGH WORK
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s mmmmmmmm
&, ﬁaﬁaﬁmmmwﬁmﬁﬁamﬂwﬁmﬁﬁwmmm

(1) & 3 onfr . (2) EEd W A ®
(3) Wawﬁtﬁ @) naﬂaﬂ%ﬁmé..

Thé main objectives of the ‘National Health Po]iq; 2017 are
a. To achieve the highest possible level of good health.
b. To promote quality of health care.

‘e.  Te provide free drugs, free d.mgnost.lcs in all pubhc and private. hqspltals

(1)_-0nlyaa.ndb - ' @ On.lyaa.ndc
3. .Onlybandc o - (4) A]loftheabove

- ‘sﬁm—szﬁ’ﬂmmhmeﬂaﬁtrﬁﬁmmw

A A e Tomeref T e .
¥, A e dawuE BN,
&, amgﬂuﬁzmuﬁmaﬂﬁ

3 W 2017nﬁ3=srﬁassn?ﬁ3ﬂi

Fholtft worh Frary v ¥ ?
1) miﬂi&ﬂﬁliﬁ I

(2) T, & AMS

8) " % % T
4 #A,9,FaAfrse

_Conmder the following statements in respect of ‘Donald Tusk’ :

He is a Polish politician and historian.

He became the President of the European Union in 2014.

He was re-elected to this position in 2017,
Which of the statements given above are true ?

a
~ b.. He was the Prime M.lmster of Poland.
c
d

(1) Onlya bande
(2) Onlyb,candd

(3) Onlycandd
(4) ab,candd

mammﬁm:smcsponnoueuwoax - | - PTO.-
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(1) Onlya . | -’j"

26 . M

& mmﬂ;mmmmmmwmﬁmaﬁm

q, mﬁmﬁaﬁ@wz@ﬁaﬂaMmmMm

oo FERIA . AL

Y m A

@ wWE

(3) Mamﬁmlﬂﬂ#m
(@) Ol o o W R IR

Select the correct statement/statements £ : .
a.  Prige, Mimster ‘Shri‘Narendra: Mdﬂi l&ﬂhhaa the Pi'ﬂﬁmn Mantri U_uwala
: YO]B.IJB. at Baﬂia, Uttar?radesh A : L

b. | Pradhan ‘Mantri Ujjwala Yojana aims to pmude coohhg gas donnechonl to
" below poverty line beneﬁmaﬂes

(2 Onlyb L T
(3) Bothaandbarec,orrect - ‘ S
(4) Bothaandharemcon-ect

a:aﬁawmmm (DBT)‘iﬁ mmmﬁmﬂ Wmmm i ?
(1) wERTs @ W@ . _
3) W= (4) Eﬂaﬂiﬁwm _
Which is the first State in I.nd.la to 1mplement Du'ect Bmﬁt Tranﬂer (DBT) in
kerosene ? _ - et ,
(1) Maharashtra = 2 Gujarat . . -
(3) Kera.la S - . (4)  None of the ,ahove f

9.

(aeﬂm)mﬁamm—gﬁmm mwmﬁﬂmmmv

O w0 @ T

® wwwbE e
W]tuch film won the Golden Peacock Award for the Best Fﬂm,ﬂ&iﬁ ?2

() Bahubali - | (2) Daughter = v |

(3) Bajrangi Bhaljean | '(4) Pmk

1S wrr | SPACE FOR ROUGH WORK .yt /o igialis. mmd | B
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20. ot e e e vt wheth R e R R 7 |

(1) ﬁm:;ma@mﬁmﬂa%wwﬁmmwmmﬂ
- aTrett

- (2) WWWWWWWWWWWW.
 oTTelt T,

3) e ¥ a9t fow wew e S,

4) ﬁmwizolsw}q{qﬁ\mwiwﬁaa@a

Which one of the follorwmg statements in respect of Shri Vuay Bhatkar - is

correct ?

(1) Vijay Bhatkar has been appomted as Vlce-Chancellor of Magadh Uhniversity by
the Governor of Bihar recently.

2 Vuay Bhatkar ‘has been appointed as Chancellor of Nalanda Lfmverslty by the
' Premdent of India recently.

@) Vijay Bhatkar succeeds Mr. Amartya Sen.
(4) Vijay Bhatkar was the recipient of Padma Vibhushan in the year 2015.

71.  HfE 9@ AR 2Ty B AR ?

(1) TR FAR ‘ (2) Wz TR

(3) & FW 4 fEgm

Who is the Chairman of the Central Water Commission ?

(1) Rajendra Kumar (2) Devendra Kumar |
3 N arendra Kumar (4) Virendra Kumar

79, mﬁmmﬁmﬁmﬁm?

HA. R URE

L A ic

C R

3. AReeais

(1) & 3, & 201 =% S Q) WA AN
(3) W W, F T (4) &4 A, F T T

Which are the types of chemical weapons ?
a. Sulphur Mustard

b. Sarin

¢c¢. VX _

d.  Acetylcolorase

(1) Onlya,bandc (2) Onlya,bandd
(8) Onlyb,candd (4). Onlya,candd
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28 . , . -

€. ., JeRitH Yo A B, WWW'@W‘?
(1) . RN SRR e s,

(2) N A IAIFRFH TR TG T I,

(8) mmmﬂh,zmﬁwﬁamm

(4) mwﬁwﬁmﬁamm

'Dr. HV. Tu]mram was recently in news. Whlch ls not true about him ? -

(1) His research is related to Zenoblotws H

(2) Heis honotired by National Bivécience: Awatd;
(3) He is honoured by Sclentlst of the Year, 2016
(4 Hei is honoured by Padma Shri Awa.rd o

74. :-;Wammmmmymmv

1) g
2 wAwh
(3) 7§ wfore

@ wHw o y

Which lcheme is launched in Jammu and Kashm.lr for empowenng the minorities ?
(1) Nai Subah '

(2) Nai Roshani

(3) Nai Manzil

(4) NaiRah -~

75‘

aﬂwmﬁeﬁnwﬂﬁaﬁmwm@“ﬁﬁm ﬁaﬂ%ﬂwwmm
o -
(1) ﬁn@? '

@) ==

8) =t

@ garmé? co A

Which clty pohce has launched “Pmk Hoygala” pohce petrol vehlc.les for .women
safety ? ‘ : .

(1) Bengalm

(2) Chennai

. (3) Kochi
(4 Guwahati

TROEAT WIS} AT / SPACE FOR ROUGH WORK: -+ - ' .
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76. TEH.WH, ﬁﬁmaﬁwﬂmiﬂaﬁwv
(1) R (L) @) ¥
(3) TSR _ 4) &
Which country becomes the first to ban FM radio broadcasting ?
(1) USA. .  (2) Brazl
(3) Ecuador ‘ (4) Norway
77.  Feal REATA 64 =0 AvEe e m@ﬂﬁm%ﬁmﬁmﬁﬁ ?
(1) R g, (2) At g,
(3) wEq 4) w=w
Which film won the best feature film award at the 64 National Film Awards ?
" (1) Maheshinte Prathikooram (2) Peli Chuplu
(3) Kasaav 7 (4) Rustom
78.  Yuddia Tof W7 2017 v 79 ania wo e 2 .
(1) igen Bt S (2) e iy
(3) udig AEnEh (@) WFE R
Who won the Men Elite Full Marathon Event, 2017 in Mumbai ?
(1) dJoshua Kirkorir (2) Alphonce Simbu
(3) * Eliud Barbgetuny (4) Bornes Kitur
79. o T W BEAW 2017 WEY -9 Wohed EE HAT IR ?
| 1) faEm | (2) g nfr wrefc
3) sifem : 4)
Which State Government has launched the e-Prison pro_]ect in February, 2017 ?-
(1) Bihar (2) Jammu and Kashmir
(3) Odisha ' 4) . Punjab
80. qﬂaﬁmmﬁeﬂwaﬁwmm@tﬂaﬁamw%ﬁaﬁv
- () B (2) ar
(3) TEY | (4) T

Which State Government has launched a mobile app Pinakin’ with mformatmn on
tourism ?

(1) Kerala ‘ . (2 Goa

' (8) Maharashtra (4) Tamil Nadu

TTEG] BFTHIE! AR / SPACE FOR ROUGH WORK ' Lo .7 P.T.O.

i e




. 81,

o M
‘aﬂmaﬁwh{:ﬂmmmmﬁwm? |
(1 R et

@) qwEa fm
(3) ofimE 9w

4) wHfamE _

Who is the author of the baok ‘Jm.nah Often Came to. Our House’ ?
(1) Kiran Doshi

(2) Khushwant Singh

(3) * Amitav Ghogh

_ (4) Ka\iitha Dev

82.

Wwaﬁmmmﬁﬁﬁa%émﬁmﬂmwﬁumm(mmﬁvﬁm

Trefta foae e =
A, ¥R Reeye e w9, inag%mwman%

= uﬁ:ﬂwﬁgﬁgﬁﬁﬂm% 10 =1 T AR

F.  HESRS I aﬁwam fremdiaren 2T 3 A wn%ar =|Té1

(1) foum &, 9 FWR T & TP am

(2) Rl W, % W 5 gH o

(3) fauam a1, m_iﬁ.aagﬂ% M

4) ud R wde o

Consider the following: statements about ‘India.n Ranking 2017 of National
Institutional Ranking Framework (University ranking) declared by HRD ministry :
8. Indian Institute of Sclence Bangalore ranked number one.

'b. Sawtnba.l Phule Pune Umvers1ty ranked 102,
c. N o other University from Maharashtra is included in Top Ten list.

(1) Statements a, b are correct and ¢ is false

(2) Statements b; c are correct and a is false
(3) Statements a, c are correct and b is false
(4) Al statements are correct

mmﬁ ST / SPACE FOR ROUGH WORK
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vive? T Gl S R/ T e 7

A 1919 ued fmiv srStet sewdie ff data O AraUsi dueAr IR,

. ﬁﬂl 2016 W= H 31"1%5 (Meng Hongwei) T e M 1%"@' fiae 'ﬁ'li"ﬁ
.

%. mﬁa%gwm%(mﬂﬂw)ﬁaﬁ.

1) T\ Aavre (2) W«
(3) wEIFNMIF - (4) et wd

Which one of the following staternents about ‘Interpol’ is/are correct ?

a. Interpol is' the largest international organisation created in 1919.

b. Meng Hongwei was elected in November 2016 as the new President of Interpol.
c. The Headquarters of Interpol is in New York (USA). -

(1) Onlyaandb | (2) Onlyb
(8) Onlyaandc- (4) All of the above
e foum feame e

A R T T (NSG) T 48 THTEE ST
q .S A AT T Wit BTt $eden T foe.
%. N anfr et 7 A ediE vanm Ry .
Sheth B RA ga IR ? |
1) wREAN
(2) B
3) W H
(¢) TOE Hoed T
Consider the following statements :
a. The Nuclear Supplies Grdlip (NSG) has total 48 members.
b. NSG turned down India’s bid to enter the group.
c. China and Switzerland opposed India’s entry into this group.
Which of the above statement.s is false ?
(1) Onlya | '
(2) Onlyb
(3) Onlyc
.(4) None of the above

TPET SIS SINT / SPACE FOR ROUGH WORK - ’ P.T.O.




A Im E L W e
CA . T 9 Eeft
%. o foregE I 58, Trewem
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@ v I I 11
@ 1 v SIE I
Match the pairs (Sahitya Akademi Awards, 2015) :
(Book) . (Author)
a. AagkiHansi -~ . I Arun Khopkar
b.  Akshaya Kavya II. Ram Shankar Awasthi
c. -Chalat Chitravyooh Il K.V.Tirumalesh
d. . Vanadevi ~ IV. Ramdarsh Mishra
a b c d | '
v I Im BV |
@ IV III 1 I
@ v . I I I
@ 1 v 1 II

88. ‘of IR T R Gt T A=Y 320 A i I, WX v PR Ada o g gE DA
C anfor @ = RIR 70 B9 vt T gF 0. 2R orerh gel I 9 o 3w AR ol
‘o = R 20 A welt AU waE TR, T B @ Sedte 2

(1) 499 (2) 699

(3) 8dW 4) iR Tl A

‘A’ and ‘B’ are two stations which are 320 miles apart. A train starts at a certain
time from ‘A’ and travels towards. ‘B’ at 70 mph. After 2 hours another train starts
from ‘B’ and travels towards ‘A’ at 20 mph. At what time will they meet ?

(1) 4hours - ‘ (2} 6 hours
(3). 8 hours - (4) None of these
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'muaﬁiuﬁnﬁaﬂmmmmnmmzs%wuﬁﬁwwﬁ fo= Tram

T 1,800 fircers A, R Ft v ad ¥4t 2
(1) T 10,100 (2) ¥ 10,000 (3) ¥ 10,200 (4). Z.10,101

Madhavi invests 60%.of her money in machmery and 25% in raw matenal She is
left with ¥ 1,800 cash in hand. Héow much money did she spend ? |

(1) ¥ 10,100 (2) ¥ 10,000 @ 10,200 (4 %1001

T < T TR SR SN wEdE TR, A ST T A Roeh o,

W e Hernll qEEE Sal o S0e aHE Rere Rw watah g@e 2 -

(1) @ @ @

A line de_sign drawn on a transparent square sheet of paper is shown in left hand
side figure. Find out how the paper will look when folded.

)

) @ S ® @

: W-WWISPACE FORROUGHWORK - ' ' - PTO.




]
i
3
3
g

W AW @ ®E @ *3° @ =3

Pick up the correct pair of diagrams.

1 ab @ ¢d @ ce @ ae
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90.  TH THAERA szangﬁam“&aﬁeaaﬁélﬂ:r 572 T, o e 9 e Reci
g IR P |
W sofeEm - (2 234 R
. 3 239fm | @) 2300 fercinin
A shopkeeper bought 8 tons of wheat and gold -5-7 tons out of it. How many
" kilograms of wheat is he left with now ?
W 29k @ 2%4kg E
@ 239kg (4) 2300kg
9L WS W e fon, dae T B g @ W s affon s
. g T e TR el S ok o eken TE.” N wo R e 2
(1) e wfem @ . -
(3) o wiawht - 4) sﬂ#ﬁ%a
Pointing to a photograph la said to Isha “The glrl in the photo is the first daughter
of the wife of the only son of the grand.mother of my elder sister, who stays at
Mumbai.” About whom did Ila say ?
[0} Ilas sister (2). Na
(3) Tla’s aunty ‘ {(4) Uncertain
92 o W A TR 2
| 16, 16, 32, 96, 384, 1920, 11320
1y 382 ' (2) 16
(@) 11320 | (4) 384

Which number is not correct in the seﬁés ?

16, 16, 32, 96, 384, 1920, 11320

1) 382 | (@ 16
@ 11320 C L (a) 384
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(1)

@) .

95 frwr fer 165 Mg

100 Fw anfy gom

100ﬁ'tq$m 143#\1'« wﬁbsm

'Wﬂ ‘ (@ Wia‘rﬁlg‘

wWE S (@ wmy

o p o oo

(1)
@) -

95 triangles and 165 squares

100 triangles and 90 squares.
100 triangles, 145 squares and 95 rectangles

68 rectangles

‘None ofthe above is correct

Ouly | @ onye
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R_TU S_UR_TU
(1) SUST (2 RTSS
3 SRIS (4) SRST
Choose the right series. '
R_TU_S_UR_TU
(1) SUST @) RTSS
(3) SRTS (4) SRST U
95. e fargren fawmolt Ao W e,
136 | 69
101
@ o @ 1
'Find the missing number. "
136 | 69
74 105
101 114
- 86 ?
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ﬁwt{@ﬁﬂ? 18700mﬁmﬁmm 15%@:@!@% mlﬁ%mﬂ"ﬁma‘taﬁ
forcften foreft ks 2

(1) T 25,100 @ 72530

@) 24200 @ T 21,200
" When an article is sold for ? 18,700, the owner loses 15% At what pnce should that

article be sold to get a gam of 15% ?
(1) T 25100 (2) T 25, 300 o
(3) ¥ 24,200 . 4) T 21, 20074

@Wﬂﬁ%fﬁﬁmaﬂmﬁmﬁmmﬂawoﬁﬁﬂ amwrta»a%l mmn@méﬂm_
5 e, 3 wwft Fem, mhmmmmﬁm%é\amﬁ

(1 4q8Pfe | '(2) 60 B
3) 58 RFR - @ a6

A train covers a dmtance of 60 km between stat;ons A and B in 45 minutes, If 11;5
speed is reduced by 5 km/hr, how much time in mmutgs w:]l it ta;ke to- cover the
same distance ? - . :

(1) 48 minutes | (@ 60 mimites
(3} 58 minutes o _ (4) 46 mmutes

98.

qaiamaﬁrcﬁamsom wig anfor 40 . Emmmwmmw
:m%aaa‘ftaaﬁaawmﬁmfm:m% wmmmﬁmaﬁwzlmaérh ar&wﬁn
Tt & ot oM 2 - :

(1) 55,
@) 447,
@) 22
(4) 33,

A rectangular ‘space 60 m long and 40 m wide has two paths for jogging in the

- middle of the space and rest of the space has exercise equipments. The area of the

exercise equipments is 2109 8q. m What is the mdth of the jogging path ?
() 55m |
(2) 44m -

(3) 22m

4) 33m

m mm@t IR | SPACE FOR ROUGH wonx
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Praren smfemw Fean e ?
(1) TSEaR (2) TEaW
(3) Tquamr _ (4) AR

Reshma’s birthday is 64 days after Priya’s birthday. If Reshma’s bn'thday is on
Monday, then Priya’s birthday will be on

(1) Tuesday 7 (2) Thursday
- (3) Wednesday (4) Friday
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